95% CL upper limit on oxB(X - TT) [pb]

95% CL upper limit on oxB(X - TT) [pb]

10° CMS Preliminary 35.9 fb? (13 TeV) g 10° CMS preliminary 35.9 b (13 TeV)
F et: 1bif E ’E F ut: ilbaf E
C — Observed ] C — Observed ]
) ----i Expected ! ) ----i Expected
WE Bl 10, o €XPECHED E % Wk Bl 10, o €XPECHEd E
s £204, piment EXPECtEd 1 % C +20,, oiment €XPECtEd E
B mg =170 GeV ] o B mg =170 GeV ]
c
10 4 S 10t E
E L B
B ] 5 “’
1e 3 g 1 E 3
E E S E E
r 1 A r ]
B 1 © B ]
\O
10—1 I I I I I 1 1 I 1 L (=) -1 1 1 1 1 I I I I I I
20 30 40 50 60 70 3 10 20 30 40 50 60 70
m, [GeV] m, [GeV]
10° CMS Preliminary 35.9 fb? (13 TeV) g 10° CMS preliminary 35.9 b (13 TeV)
F et: 1blc E ’E F ut:ilblc E
C — Observed ] C — Observed ]
) ----i Expected ! ) ----i Expected
Wk Bl 10, o EXPECHED E % W0k Bl 10, o EXPECHEd E
s £204, peimen EXPECtEd 1 % C +20,, oimen; €XPECtEd E
L Qmg =170 GeV 1 b C Qmg =170 GeV ]
c
10 S 10k e
5 ol
B ] 5 B ]
1e 3 g 1 E 3
E E S E E
r 1 A r ]
B 1 © B ]
°
10—1 I I I I I 1 1 I 1 L (=) -1 1 1 1 1 I I I I I I
20 30 40 50 60 70 3 10 20 30 40 50 60 70



